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Question ID:- 33
The Castel del Monte World Heritage siteisin :

Options:-

« Bulgeria, Option ID :- 129,
« France, Option ID :- 130,

« Italy, Option ID :- 131,

» Austria, Option ID :- 132,
Answer Given:- Not Attempted
Correct Answer :- Italy Option ID :- 131

Question ID:- 9
Which city has been honoured as the Grand winner of the AIPH World
Green City Awards 2022 ?

Options:-
«Shimla, Option ID :- 33, @

» Sikar, Option ID :- 34,
« Hyderabad, Option ID :- 35,

« Surat, Option ID :- 36,
Answer Given:- Hyderabad, Option ID : -35
Correct Answer :- Hyderabad Option ID :- 35

Question ID:- 30
The standard meridians of the world are selected in multiples of :

Options:-

» 8°30' of longitude, Option ID :- 117,
« 8°30' of latitude, Option ID :- 118,

» 7°30' of longitude, Option ID :- 119,

« 7°30' of latitude, Option ID :- 120,
Answer Given:- 8°30' of longitude, Option ID : -117
Correct Answer :- 7°30' of longitude Option ID :- 119

Question ID:- 87
Which of the following vitamin helps in blood clotting?

Options:-

«Vitamin K, Option ID :- 345,
« Vitamin E, Option ID :- 346,
« Vitamin D, Option ID :- 347,
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« Vitamin C, Option ID :- 348,
Answer Given:- Vitamin K, Option ID : -345
Correct Answer :- Vitamin K Option ID :- 345
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Question ID:- 76
Select the appropriate option to change the voice of given sentence.

We have warned you.

Options:-

=« You have been warned., Option ID :- 301,
» Didn't we warn you?, Option ID :- 302,

» Warned you have been., Option ID :- 303,

« Had you been warn, Option ID :- 304,
Answer Given:- You have been warned., Option ID : -301
Correct Answer :- You have been warned. Option ID :- 301

Question ID:- 92
To change or set margin in MS Waord 2010 which of the following tabs
comes into function?

Options:-

«Page Layout , Option ID :- 365,
» Insert, Option ID :- 366,

« Home , Option ID :- 367,

« View, Option ID :- 368,
Answer Given:- Page Layout, Option ID : -365
Correct Answer :- Page Layout Option ID :- 365

Question ID:- 14
Who is the author of Rajatarangini, historical chronicle of the north-
western part of India, particularly Kashmir ?

Options:-

« Vatsayana, Option ID :- 53,
» Asvaghosa, Option ID :- 54,
« Kalhana, Option ID :- 55,

» Visakdatta, Option ID :- 56,
Answer Given:- Kalhana, Option ID : -55
Correct Answer :- Kalhana Option ID :- 55

Question ID:- 37

Vice President is ex-officio Chairman of

Options:-

sHouse of People, Option ID :- 145,

= Council of States, Option ID :- 146,

» Planning commission, Option ID :- 147,

« All India Services, Option ID :- 148,
Answer Given:- Council of States, Option ID : -146
Correct Answer :- Council of States Option ID :- 146

Question ID:- 102
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Options:-
« WAX, Option ID :- 405,
« TUH, Option ID :- 406,
« TUV, Option ID :- 407,

« WXV, Option ID :- 408,
Answer Given:- WXV, Option ID : -408
Correct Answer :- WXV Option ID :- 408

Find the missing term of the series from the following given options:
NOM, QRP, TUS, ?
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Question ID:- 36
Indian Constituent Assembly adopted design of National Flag on :

Options:-
«August 1947, Option ID :- 141,
« January 1950, Option ID :- 142,

« July 1947, Option ID :- 143,

» November 1950, Option ID :- 144,
Answer Given:- July 1947, Option ID : -143
Correct Answer :- July 1947 Option ID :- 143

Question ID:- 96
Complete the pattern from the below given figures.

Pl P

X)

(1

Options:-
«4, Option ID :- 381,
« 3, Option ID :- 382,
» 2, Option ID :- 383,

« 1, Option ID :- 384,
Answer Given:- 3, Option ID : -382
Correct Answer :- 3 Option ID :- 382

(2) (3)

(4)

Question ID:- 52
Name the first woman to win a Noble Prize in Economics.

Options:-
sElinor Ostrom, Option ID :- 205,

« Marie Curie, Option ID :- 206,

« Bertha von Suttner, Option ID :- 207,

« Malala Yousafzai, Option ID :- 208,
Answer Given:- Bertha von Suttner, Option ID : -207
Correct Answer :- Elinor Ostrom Option ID :- 205

Question ID:- 114
Given that V4096 = 64
What will be the value of v4096 +v40.96 +v0.004096 ?

Options:-
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2 70.464, Option ID :- 453,
» 70464, Option ID :- 454,

» 7046.4, Option ID :- 455,

= 0.70464, Option ID :- 456,
Answer Given:- 70.464, Option ID : -453
Correct Answer :- 70.464 Option ID :- 453
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Question ID:- 86
Which of the following instruments is used to observe stars and other
heavenly bodies?

Options:-

s« Microscope, Option ID :- 341,
» Telescope, Option ID :- 342,

» Periscope, Option ID :- 343,

= None of these, Option ID :- 344,
Answer Given:- Telescope, Option ID : -342
Correct Answer :- Telescope Option ID :- 342

Question ID:- 5
Which treaty forms the basis of the North Atlantic Treaty Organization
(NATO) ?

Options:-

« Treaty of Versailles, Option ID :- 17,

» Paris Agreement, Option ID :- 18,

» The Washington Treaty, Option ID :- 19,

» Basel Convention, Option ID :- 20,
Answer Given:- Not Attempted
Correct Answer :- The Washington Treaty Option ID :- 19

Question ID:- 95

Raunak is the only son of Sonal, who is the only daughter of Raju. Siddhi is
the mother of Ramesh and daughter-in-law of Sonal. How is Ramesh related
to Sonal?

Options:-

«Son, Option ID :- 377,

« Wife, Option ID :- 378,

» Sister-in-law, Option ID :- 379,

» Grandson, Option ID :- 380,
Answer Given:- Grandson, Option ID : -380
Correct Answer :- Grandson Option ID :- 380

Question ID:- 42
A Money bill is not introduced in the :

Options:-
sHouse of People, Option ID :- 165,
« Council of States, Option ID :- 166,

« Planning commission, Option ID :- 167,
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» End of financial year, Option ID :- 168,
Answer Given:- Council of States, Option ID : -166
Correct Answer :- Council of States Option ID :- 166
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Question ID:- 103
In a certain code 'KARAN' is coded as "LBRZM"; 'ARJUN' is coded as "BSITM";
'LAILA' is coded as "MBIKZ"; then what will be the code for '"MAINU'?

Options:-

«NBJMT, Option ID :- 409,
» LCKNS, Option ID :- 410,
« LCIOR, Option ID :- 411,

« NTFNB, Option ID :- 412,
Answer Given:- NBJMT, Option ID : -409
Correct Answer :- NBJMT Option ID :- 409

Question ID:- 116

A bag contains 11 white balls and some red balls. If the probability of
drawing a red ball is double that of a white ball, find the number of red
balls in the bag.

Options:-

=22, Option ID :- 461,
» 13, Option ID :- 462,
« 19, Option ID :- 463,

« 10, Option ID :- 464,
Answer Given:- 22, Option ID : -461
Correct Answer :- 22 Option ID :- 461

Question ID:- 83

Which of the following is a non-reducing sugar?
Options:-

«Sucrose, Option ID :- 329,

» Glucose, Option ID :- 330,

« Fructose, Option ID :- 331,

=« hone of these, Option ID :- 332,
Answer Given:- Sucrose, Option ID : -329
Correct Answer :- Sucrose Option ID :- 329

Question ID:- 59
What is the unit to measure ecological footprint ?

Options:-

» Kilometre, Option ID :- 233,

« Global hectares, Option ID :- 234,

« Particulate matter, Option ID :- 235,

» Parts per million, Option ID :- 236,
Answer Given:- Parts per million, Option ID : -236
Correct Answer :- Global hectares Option ID :- 234

Question ID:- 6
Former National Securitv Agencv contractor-turned-whistleblower
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Edward Snowden has béen gran-ted citizenship of
Options:-

sRussia, Option ID :- 21,

» Sweden, Option ID :- 22,

» Poland, Option ID :- 23,

« Germany, Option ID :- 24,
Answer Given:- Not Attempted
Correct Answer :- Russia Option ID :- 21

Question ID:- 40
President takes oath in front of before entering upon his
office.

Options:-

«Vice President, Option ID :- 157,

« Prime Minister, Option ID :- 158,

= Council of Ministers, Option ID :- 159,

» Chief Justice of India, Option ID :- 160,
Answer Given:- Chief Justice of India, Option ID : -160
Correct Answer :- Chief Justice of India Option ID :- 160

Question ID:- 43

As per the J&K Reorganisation Act, 2019, who can appoint the Advocate-
General for the High Court of Jammu & Kashmir and Ladakh?

Options:-

«President of India, Option ID :- 169,

=« Prime Minister of India, Option ID :- 170,
» Chief Justice of India, Option ID :- 171,

» Lieutnant Governor of Jammu and Kashmir, Option ID :- 172,
Answer Given:- Lieutnant Governor of Jammu and Kashmir, Option ID : -172
Correct Answer :- Lieutnant Governor of Jammu and Kashmir Option ID :- 172

Question ID:- 63
Chernobyl incident is related to which of the following ?

Options:-

» Acid rain, Option ID :- 249,

« Flood, Option ID :- 250,

» Earthquake, Option ID :- 251,

» Nuclear accident, Option ID :- 252,
Answer Given:- Nuclear accident, Option ID : -252
Correct Answer :- Nuclear accident Option ID :- 252

Question ID:- 85

The is one of the four chambers of the human heart, and is the
first chamber to receive deoxygenated blood returning from the body.

Options:-
«right ventricle , Option ID :- 337,

« right atrium , Option ID :- 338,
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» left ventricle , Option ID :- 339,

» left atrium , Option ID :- 340,
Answer Given:- right atrium , Option ID : -338
Correct Answer :- right atrium Option ID :- 338

Question ID:- 104
Find the missing series from the following given options:
?,YZ, DE, IK

Options:-

«UV, Option ID :- 413,
« MP, Option ID :- 414,
« ED, Option ID :- 415,

« KJ, Option ID :- 416,
Answer Given:- UV, Option ID : -413
Correct Answer :- UV Option ID :- 413

Question ID:- 97
Which of the alternatives will come next in the series.
ZUA, XOC, VIE, TEG,?

Options:-

«RAI, Option ID :- 385,
» AGS, Option ID :- 386,
= RAG, Option ID :- 387,

« JAR, Option ID :- 388,
Answer Given:- RAI, Option ID : -385
Correct Answer :- RAI Option ID :- 385

Question ID:- 41
Provisions of Fundamental rights is barrowed from Constitution.

Options:-

«Canadian, Option ID :- 161,

» United States, Option ID :- 162,
» British, Option ID :- 163,

« Irish, Option ID :- 164,
Answer Given:- United States, Option ID : -162
Correct Answer :- United States Option ID :- 162

Question ID:- 48
Which governor-general introduced the Zamindari system under the
Permanent Settlement Act?

Options:- \/
«Lord Rippon, Option ID :- 189,

» Lord Cornwallis, Option ID :- 190,
« Lord Canning, Option ID :- 191,

« Lord Irwin, Option ID :- 192,
Answer Given:- Lord Cornwallis, Option ID : -190
Correct Answer :- Lord Cornwallis Option ID :- 190

Question ID:- 118
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The average of 7 consecutive numbers is 20. Calculate the largest number.
Options:-

»23, Option ID :- 469,

« 25, Option ID :- 470,

« 29, Option ID :- 471,

« 18, Option ID :- 472,
Answer Given:- 23, Option ID : -469
Correct Answer :- 23 Option ID :- 469

Question ID:- 23
Borders of which of the following two states fall along Cardomom
Hills ?

Options:-

» Karnataka and Kerala, Option ID :- 89,

» Karnataka and Tamil Nadu, Option ID :- 90,
» Kerala and Tamil Nadu, Option ID :- 91,

« Tamil Nadu and Andhra Pradesh, Option ID :- 92,
Answer Given:- Kerala and Tamil Nadu, Option ID : -91
Correct Answer :- Kerala and Tamil Nadu Option ID :- 91

Question ID:- 89
Twinkling of stars is due to atmospheric which among the following?

Options:-

sdispersion of light by water droplets, Option ID :- 353,

» refraction of light by different layers of varying refractive indices, Option ID :- 354,
» scattering of light by dust particles, Option ID :- 355,

= None of these, Option ID :- 356,

Answer Given:- refraction of light by different layers of varying refractive indices,
Option ID : -354

Correct Answer :- refraction of light by different layers of varying refractive indices
Option ID :- 354

Question ID:- 90
Magnetite is an ore of which among the following?

Options:-

sAluminium, Option ID :- 357,
« Vanadium, Option ID :- 358,
« Iron, Option ID :- 359,

« Chromium, Option ID :- 360,
Answer Given:- Iron, Option ID : -359
Correct Answer :- Iron Option ID :- 359

Question ID:- 29

Where is Caroline plate located ?
Options:-

» Between South America and Pacific plate, Option ID :- 113,

=« Between Philippine and Indian plate, Option ID :- 114,
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« North-east of Australia, Option ID :- 115,

» Between the Asiatic and Pacific plate, Option ID :- 116,
Answer Given:- Between Philippine and Indian plate, Option ID : -114
Correct Answer :- Between Philippine and Indian plate Option ID :- 114

Question ID:- 120
If the heights of 5 people are 142 cm, 150 cm, 149 cm, 156 cm and 153 cm.
Find the mean height.

Options:-

=150, Option ID :- 477,
= 280, Option ID :- 478,
» 220, Option ID :- 479,

« 108, Option ID :- 480,
Answer Given:- 150, Option ID : -477
Correct Answer :- 150 Option ID :- 477

Question ID:- 72
Complete the given sentence with the right form of verb from the following
given options :

They for an American company based in Seoul.
Options:-
sworks , Option ID :- 285,

» worked, Option ID :- 286,
» is working, Option ID :- 287,

» has worked, Option ID :- 288,
Answer Given:- worked, Option ID : -286
Correct Answer :- worked Option ID :- 286

Question ID:- 50
core sectors are considered in the index while measuring the
output of industries in India .

Options:-

«Four, Option ID :- 197,
» Six, Option ID :- 198,

« Eight, Option ID :- 199,

» Ten, Option ID :- 200,
Answer Given:- Eight, Option ID : -199
Correct Answer :- Eight Option ID :- 199

Question ID:- 38

To work in factory or mine, what is the minimum age prescribed in the
Indian Constitution ?

Options:-

»14 years, Option ID :- 149, \/
« 15 years, Option ID :- 150,

« 20 years, Option ID :- 151,

» 22 years, Option ID :- 152,
Answer Given:- 14 years, Option ID : -149
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Correct Answer :- 14 years Option ID :- 149

Question ID:- 110

Looking at the portrait of a boy, Rehan said, ‘His mother is the wife of my
father's son. Brothers and sisters | have none’. At whose portrait was Rehan
looking?

Options:-

«His Grand Father, Option ID :- 437,
»« His son, Option ID :- 438,

» His nephew, Option ID :- 439,

» His cousin, Option ID :- 440,
Answer Given:- His nephew, Option ID : -439
Correct Answer :- His son Option ID :- 438

Question ID:- 106
Which of the given venn diagrams represent the correct mutual relationship

between "Females, Wives, Mothers" ?

@O O

h @ (3) 4)

Options:-

=1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

=« None of these, Option ID :- 424,
Answer Given:- 3, Option ID : -423
Correct Answer :- 2 Option ID :- 422

Question ID:- 2
Indian actor Dhanush has been awarded as the “Best Actor Male” at the
BRICS Film Festival for his work in which film?

Options:-
sAsuran, Option ID :- 5, eﬁ

« Barakat, Option ID :- 6,
» Panchayat, Option ID :- 7,

« Biriyaani, Option ID :- 8,
Answer Given:- Panchayat, Option ID : -7
Correct Answer :- Asuran Option ID :- 5

Question ID:- 101

If the under given letters of English alphabet are rearranged we get the name
of a\an well recognised

[ LPLAR U]

Options:-

«City, Option ID :- 401,

= River, Option ID :- 402,
» Planet, Option ID :- 403,

« Minerals, Option ID :- 404,
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Answer Given:- City, Option ID : -401
Correct Answer :- City Option ID :- 401

Question ID:- 105
Complete the analogy from the following given options:
Crying : Eyes &: : Mouth

Options:-

«Seeing, Option ID :- 417,

» Sleeping, Option ID :- 418,
« Eating, Option ID :- 419,

« Walking, Option ID :- 420,
Answer Given:- Eating, Option ID : -419
Correct Answer :- Eating Option ID :- 419

Question ID:- 34
Which language is prescribed in proceedings of high court?

Options:-

«English, Option ID :- 133,
« Marathi, Option ID :- 134,
« Hindi, Option ID :- 135,

« Sanskrit, Option ID :- 136,
Answer Given:- English, Option ID : -133
Correct Answer :- English Option ID :- 133

Question ID:- 93
Laser printeris a printer.

Options:-

«Impact, Option ID :- 369,

« Non-impact, Option ID :- 370,
» Key note, Option ID :- 371,

« hon peripheral, Option ID :- 372,
Answer Given:- Non-impact, Option ID : -370
Correct Answer :- Non-impact Option ID :- 370

Question ID:- 46

In 2019, a company partnered with the Union Ministry of Housing and
Urban Affairs for the implementation of DAY-NULM scheme to induct them
into e-commerce. Identify the company.

Options:-

«Flipkart, Option ID :- 181,

» Google, Option ID :- 182,

« Facebook, Option ID :- 183,

» Zomato, Option ID :- 184,
Answer Given:- Not Attempted
Correct Answer :- Flipkart Option ID :- 181

Question ID:- 51
The Electricity distribution companies in have been privatised.

Options:-
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«Northern States, Option ID :- 201,

« Hilly states, Option ID :- 202,
« Union Territories, Option ID :- 203,

» Capital Cities, Option ID :- 204,
Answer Given:- Capital Cities, Option ID : -204
Correct Answer :- Union Territories Option ID :- 203
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Question ID:- 64
Which of the following animals do not go into hibernation ?

Options:-

« Bear, Option ID :- 253,
« Bats, Option ID :- 254,
» Fish, Option ID :- 255,

» Hedgehogs, Option ID :- 256,
Answer Given:- Hedgehogs, Option ID : -256
Correct Answer :- Fish Option ID :- 255

Question ID:- 94
In MS Excel 2010, which of the following shortcut is used to enter the
current date?

Options:-

«Ctrl+semicolon (;), Option ID :- 373,

« Ctrl+Shift+colon (:), Option ID :- 374,
» Ctrl+apostrophe ('), Option ID :- 375,

» Ctrl+Minus sign (-), Option ID :- 376,
Answer Given:- Ctrl+semicolon (;), Option ID : -373
Correct Answer :- Ctrl+semicolon (;) Option ID :- 373

Question ID:- 24
The range comprising Patkai hills, the Naga hills, the Manipur hills and
the Mizo hills, is called:

Options:-

« Shivalik, Option ID :- 93,

« Purvachal, Option ID :- 94,

» Lesser Himalaya, Option ID :- 95,

= None of these, Option ID :- 96,
Answer Given:- Purvachal, Option ID : -94
Correct Answer :- Purvachal Option ID :- 94

Question ID:- 17
Guru Granth Sahib contains teachings of which Muslim Sufi saint,
along with many other ?

Options:-

« Najm al-Din Razi, Option ID :- 65,

= Sheikh Farid, Option ID :- 66,

» Sayed Badiuddin Zinda Shah Madar, Option ID :- 67,

=« Mir Ahmad Ibrahim, Option ID :- 68,
Answer Given:- Sheikh Farid, Option ID : -66

%
®
&
<
&
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Correct Answer :- Sheikh Farid Option ID :- 66
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Question ID:- 80

Choose the correct options to fill in each blank:

i. _ indicates to the reader of the letter what the letter is about.
ii. The ___ is also known as ‘complimentary close.’

Options:-

«i. Conclusion; ii. salutation, Option ID :- 317,
» i. Enclosure; ii. salutation, Option ID :- 318,
» i. Enclosure; ii. subject, Option ID :- 319,

» i. Subject; ii. conclusion, Option ID :- 320,
Answer Given:- i. Subject; ii. conclusion, Option ID : -320
Correct Answer :- i. Subject; ii. conclusion Option ID :- 320

Question ID:- 58
Along the mountain gradients, biodiversity is normally in the
lower altitudes as compared to the higher altitudes.

Options:-

» Lesser, Option ID :- 229,

» Greater, Option ID :- 230,

» Unaffected, Option ID :- 231,

» Disaster, Option ID :- 232,
Answer Given:- Greater, Option ID : -230
Correct Answer :- Greater Option ID :- 230

Question ID:- 60
What is the main constituent of CNG ?

Options:-

» Oxygen Molecule, Option ID :- 237,
« Nitrogen, Option ID :- 238,

» Methane, Option ID :- 239,

« Ammonia, Option ID :- 240,
Answer Given:- Methane, Option ID : -239
Correct Answer :- Methane Option ID :- 239

Question ID:- 119

While going to Mall, Rajan travels at a speed of 30 kmph and on his way
back, he travels at a speed of 45 kmph. What is his average speed of the
whole journey?

Options:-

36 kmph, Option ID :- 473,
= 42 kmph, Option ID :- 474,
» 51 kmph, Option ID :- 475,

» 32 kmph, Option ID :- 476,
Answer Given:- 36 kmph, Option ID : -473
Correct Answer :- 36 kmph Option ID :- 473

&
&
(&
&

Question ID:- 16
Babur wrote his autobiography, "Tuzk-e Babri" in which of the
following language ?
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Options:-
« Arabic, Option ID :- 61,

« Persian, Option ID :- 62,
« Turki, Option ID :- 63,

= None of these, Option ID :- 64,
Answer Given:- Turki, Option ID : -63
Correct Answer :- Turki Option ID :- 63
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Question ID:- 22
Karnaprayag is confluence of rivers:

Options:-

» Mandakini and Bhagirathi, Option ID :- 87,

« Alaknanda and Nandakini, Option ID :- 88,
Answer Given:- Alaknanda and Pindar, Option ID : -86
Correct Answer :- Alaknanda and Pindar Option ID :- 86

» Alaknanda and Mandakini, Option ID :- 85,
« Alaknanda and Pindar, Option ID :- 86, \/

Question ID:- 82
Destructive distillation of coal leads to the formation of which of the
following?

Options:-

swood, Option ID :- 325,

» coal tar, Option ID :- 326,
« petrol , Option ID :- 327,

» charcoal , Option ID :- 328,
Answer Given:- petrol , Option ID : -327
Correct Answer :- coal tar Option ID :- 326

Question ID:- 79

Itis to remove the most common barriers to the listening process that
participants in seminars or conferences are requested to switch off their
phones. This is to remove one of the common barriers to the listening
process. ldentify the barrier.

Options:-

s« Psychological distraction, Option ID :- 313,
» Physical distractions, Option ID :- 314,

« Cultural barrier, Option ID :- 315,

» Language barrier, Option ID :- 316,
Answer Given:- Physical distractions, Option ID : -314
Correct Answer :- Physical distractions Option ID :- 314

Question ID:- 44
What does Part Il of the &K Reorganisation Act 2019 deal with?

Options:-
« REORGANISATION OF THE STATE OF JAMMU AND KASHMIR, Optic
» REPRESENTATION IN THE LEGISLATURES, Option ID :- 174,
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» DELIMITATION OF CONSTITUENCIES, Option ID :- 175,

» Legal Provisions as related to Jammu and Kashmir, Option ID :- 176,

Answer Given:- REORGANISATION OF THE STATE OF JAMMU AND KASHMIR, Option ID :
-173

Correct Answer :- REORGANISATION OF THE STATE OF JAMMU AND KASHMIR Option ID
=173

Question ID:- 70

In the following question, a sentence has been split into four parts marked
P, Q, Rand S which have been jumbled up. Rearrange these parts to make
a grammatically correct and meaningful sentence.

P: and then sank to

Q: floated for a few seconds,
R: the body hit the water,

S: the bottom of the river

Options:-

«PQSR, Option ID :- 277,
« PRQS, Option ID :- 278,
« RQPS, Option ID :- 279,

» SPQR, Option ID :- 280,
Answer Given:- RQPS, Option ID : -279
Correct Answer :- RQPS Option ID :- 279

Question ID:- 7
Which organisation recently sent the Indian tricolour flag to the edge of
space on a balloon ?

Options:-

«+ISSC, Option ID :- 25,

« ISRO, Option ID :- 26,

« Skyroot Aerospace, Option ID :- 27,

= Space Kidz India, Option ID :- 28,
Answer Given:- Skyroot Aerospace, Option ID : -27
Correct Answer :- Space Kidz India Option ID :- 28

Question ID:- 69
Complete the sentence using the apropriate word from the following given
options:

What'sthat _ your hand?
Options:-

samong, Option ID :- 273,

« between, Option ID :- 274,
» in, Option ID :- 275,

» despite, Option ID :- 276,
Answer Given:- in, Option ID : -275
Correct Answer :- in Option ID :- 275

Question ID:- 62
In order to deal with climate change, which of the following policy measure

is initiated on behalf of India, during COP26 ?
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Options:-

» National climate plan, Option ID :- 245,

» Jalvayukosh, Option ID :- 246, \/
« Panchamrit, Option ID :- 247,

« Paryavaran 8.0, Option ID :- 248,
Answer Given:- Panchamrit, Option ID : -247
Correct Answer :- Panchamrit Option ID :- 247

Question ID:- 68
Choose from the given options, the SYNONYM of the given word:

fluctuate

Options:-

spersist, Option ID :- 269, \/
« waver, Option ID :- 270,

« curb, Option ID :- 271,

« remain, Option ID :- 272,
Answer Given:- waver, Option ID : -270
Correct Answer :- waver Option ID :- 270

Question ID:- 67
Choose from the following options, the correct meaning of given idiom:

The early bird gets the worm

Options:- \/
«A really good discovery, Option ID :- 265,

» The big issue, the problem people are avoiding, Option ID :- 266,
» The person who arrives first is the one who is successful, Option ID :- 267,

» It is fine to miss this opportunity. , Option ID :- 268,

Answer Given:- The person who arrives first is the one who is successful, Option ID : -
267

Correct Answer :- The person who arrives first is the one who is successful Option ID :-
267

Question ID:- 15
Who among the following was the first to translate Rajatarangini into
a foreign language ?

Options:-

» Sir Aurel Stien, Option ID :- 57,
« R.S. Pandit, Option ID :- 58,

« Haidar Malik, Option ID :- 59,

= None of these, Option ID :- 60,
Answer Given:- Not Attempted
Correct Answer :- Haidar Malik Option ID :- 59

Question ID:- 20
The Chauri Chaura incident was related to which of the following

national movements?

Options:-
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sSwadeshi Movement, Option ID :- 77,
= Quit India Movement, Option ID :- 78,
» Civil Disobedience Movement , Option ID :- 79,

=« Non-Cooperation Movement, Option ID :- 80,
Answer Given:- Non-Cooperation Movement, Option ID : -80
Correct Answer :- Non-Cooperation Movement Option ID :- 80

Question ID:- 19
Who among the following led the Revolt of 1857 in Awadh and
Lucknow?

Options:-

« Wajid Ali Shah, Option ID :- 73,

» Begum Hazrat Mahal, Option ID :- 74,
» Asaf-ud-daula, Option ID :- 75,

« Kunwar Singh, Option ID :- 76,
Answer Given:- Begum Hazrat Mahal, Option ID : -74
Correct Answer :- Begum Hazrat Mahal Option ID :- 74

Question ID:- 100

Find the odd one out from the following given options:
Options:-

166 - 55, Option ID :- 397,

. 121 / 11, Option ID :- 398, \/

« 11 + 0, Option ID :- 399,

« 11 / 0, Option ID :- 400,
Answer Given:- 11 / 0, Option ID : -400
Correct Answer :- 11 / 0 Option ID :- 400

Question ID:- 75
Choose from the given options, the appropriate continuation of the given
sentence:

I didn’t enjoy the holidays ... \/
Options:-

«because I am feeling very well., Option ID :- 297,
» because I not feeling very well., Option ID :- 298,
» because I wasn’t feeling very well., Option ID :- 299,

» because I wasn’t felt very well., Option ID :- 300,
Answer Given:- because I wasn’t feeling very well., Option ID : -299
Correct Answer :- because I wasn’t feeling very well. Option ID :- 299

Question ID:- 113

The guestion given below, two statements | & Il have been given. Analyse

and answer whether the data provided in the two statements are sufficient 0 7\L '
to answer the question or not. \l\ 7 ‘2\7

Dilip, Rohan, Mahesh, and Kunal are brothers. Who is the heaviest?

I. Rohan is heavier than Dilip and Kunal, but lighter than Mahesh.
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I1. Dilip is lighter than Rohan and Mahesh, but heavier than Kunal.

Options:-

«Statement I alone is sufficient, but statement II alone is not suff , Option ID :-
449,

« Statement II alone is sufficient, but statement I alone is not sufficient, Option ID :-
450,

« Data in both the statements together are not sufficient, Option ID :- 451,

» Both statement I and statement II together are needed, Option ID :- 452,

Answer Given:- Both statement I and statement II together are needed, Option ID : -
452

Correct Answer :- Statement I alone is sufficient, but statement II alone is not
sufficient Option ID :- 449

Question ID:- 49
Selection 9 is a variety of in India which won an award at a

competition.

Options:-

« Coffee, Option ID :- 193,
« Tea, Option ID :- 194,

» Wine, Option ID :- 195,

=« Soyabean, Option ID :- 196,
Answer Given:- Not Attempted
Correct Answer :- Coffee Option ID :- 193

Question ID:- 111
A person facing towards North, on taking right, will face towards which
direction?

Options:-
«North-west, Option ID :- 441,

» South, Option ID :- 442, /

« East, Option ID :- 443,

» West, Option ID :- 444,
Answer Given:- East , Option ID : -443
Correct Answer :- East Option ID :- 443

Question ID:- 13
Seleucus was defeated by Chandragupta Maurya in which of the
following year ?

Options:-

=« 315 B.C., Option ID :- 49,
« 312 B.C., Option ID :- 50,
« 305 B.C., Option ID :- 51,

« 290 B.C., Option ID :- 52,
Answer Given:- Not Attempted
Correct Answer :- 305 B.C. Option ID :- 51

Question ID:- 65

What is the name of disease caused by mercury (Hg) poisoning of water ?

Options:-
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« Minamata, Option ID :- 257,

« Diarrhea, Option ID :- 258,
» Dysentery, Option ID :- 259,

« Typhoid, Option ID :- 260,
Answer Given:- Minamata, Option ID : -257
Correct Answer :- Minamata Option ID :- 257

v
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Question ID:- 91
Which among the following is an example of input device?

Options:-

s Touchpad , Option ID :- 361,
» Projector, Option ID :- 362,
« Monitor, Option ID :- 363,

« 3D Printer, Option ID :- 364,
Answer Given:- Touchpad , Option ID : -361
Correct Answer :- Touchpad Option ID :- 361

Question ID:- 109
Find the odd one out.

Options:-

« Inch, Option ID :- 433,

» Kilogram, Option ID :- 434,

» Centimeter, Option ID :- 435,

» Feet, Option ID :- 436,
Answer Given:- Kilogram, Option ID : -434
Correct Answer :- Kilogram Option ID :- 434

Question ID:- 73
Read the below given passage carefully and answer the question from
the following given options:

A giraffe’s long neck is made up like that of man and most other mammals,
of only seven vertebrae. The bones are attached to one another with ball
and socket joints. These make the neck flexible. It can run at 50 km per
hour.

Rising from a lying position is a problem for such a large animal. So it
usually keeps standing even while it sleeps.To reach water with such a long
neck and legs, a giraffe spreads its front legs wide apart. Then it lowers its
neck to drink. This awkward position makes it easy for the lion to attack it.

Choose the word from the passage which is opposite to the word 'Narrow' :
Options:-

uLiitle, Option ID :- 289,

« Light, Option ID :- 290,

« Thin, Option ID :- 291,

» Wide, Option ID :- 292,
Answer Given:- Wide, Option ID : -292
Correct Answer :- Wide Option ID :- 292
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Question ID:- 112
Directions: Study the below given line graph and answer the given question:

Number of Vehicles manufactured by two companies over the Years (Number in Thousands)
160 159

148
140

in Thousands

120

100

F vehicles

a0
: &0
= 40 $ 4 " 4 +
1997 1958 1999 2000 2001 2002
Years — ¥ i
What is the difference between the total productions of the two Companies
in the given years ?
Options:-

23000, Option ID :- 445,

« 26000, Option ID :- 446,

« 16000, Option ID :- 447,

« 15000, Option ID :- 448,

Answer Given:- 26000, Option ID : -446
Correct Answer :- 26000 Option ID :- 446

Question ID:- 81
Fill in the blank with the correct option:
Your workspace should be clean and

Options:- \/
sorganised, Option ID :- 321,

» dirty, Option ID :- 322,
« unsafe, Option ID :- 323,

=« hone of these, Option ID :- 324,
Answer Given:- organised, Option ID : -321
Correct Answer :- organised Option ID :- 321

Question ID:- 35

Indian Constitution commenced on 26th January 1950. Why was 26
January specifically chosen for commencement of the Indian Constitution ?
Options:-

« It was the date when final draft of Constitution was ready, Option ID :- 137,

« It was on this day in 1930 Purna Swaraj was celebrated, Option ID :- 138,
« It was will of B.R.Ambedkar, Option ID :- 139,

« It was a auspicious day, Option ID :- 140,

Answer Given:- It was on this day in 1930 Purna Swaraj was celebrated, Option ID : -
138

Correct Answer :- It was on this day in 1930 Purna Swaraj was celebrated Option ID :-
138

Question ID:- 4
China is building a bridge across a lake near Line of Actual Control. What is
the name of this Lake ?

Options:-
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«Moriri lake, Option ID :- 13,
« Yarab Tso, Option ID :- 14,

» Pangong Lake, Option ID :- 15,

» Pangateng Lake, Option ID :- 16,
Answer Given:- Pangong Lake, Option ID : -15
Correct Answer :- Pangong Lake Option ID :- 15

GET IT ON
Google Play

Question ID:- 28
Drift of an ocean current is measured in terms of which of the following?

« Mach, Option ID :- 110,
» Poise, Option ID :- 111,

» Knots, Option ID :- 112,
Answer Given:- Knots, Option ID : -112
Correct Answer :- Knots Option ID :- 112

Options:-
» PSI, Option ID :- 109, \/

Question ID:- 3
From which country is the 2021 Ramon Magsaysay Award winner
Muhammad Amjad Saqib ?

Options:-

«Pakistan, Option ID :- 9,

» Bangladesh, Option ID :- 10,
« Oman, Option ID :- 11,

« Iran, Option ID :- 12,
Answer Given:- Not Attempted
Correct Answer :- Pakistan Option ID :- 9

Question ID:- 31
Labrador currentis a :

Options:-

« Cold current, Option ID :- 121,

« Warm current, Option ID :- 122,
» Electric current, Option ID :- 123,

= None of these, Option ID :- 124,
Answer Given:- Cold current, Option ID : -121
Correct Answer :- Cold current Option ID :- 121

Question ID:- 12

USTTAD (upgrading the skills and training in traditional arts/crafts for
development) scheme is launched by which ministry?

Options:-

=« Ministry of Culture, Option ID :- 45,

» Ministry of minority affairs, Option ID :- 46,

» Ministry of Skill Development and Entrepreneurship, Option ID :- 47,

« Ministry of Women and Child Development, Option ID :- 48,
Answer Given:- Ministry of minority affairs, Option ID : -46
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Correct Answer :- Ministry of minority affairs Option ID :- 46
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Question ID:- 61

Which of the following teams first discovered ozone hole over Antarctica ?
Options:-

« British team, Option ID :- 241,

= American team, Option ID :- 242,

» Russian team, Option ID :- 243,

« Australian team, Option ID :- 244,
Answer Given:- Not Attempted
Correct Answer :- British team Option ID :- 241

Question ID:- 54
What will be the economic growth of India in 2020-21, as per the recent

report of SBI Research’s Ecowrap?
Options:-

«1 percent, Option ID :- 213,

» 2.6 percent, Option ID :- 214,
» 3.5 percent, Option ID :- 215,

» 5 percent, Option ID :- 216,
Answer Given:- Not Attempted
Correct Answer :- 2.6 percent Option ID :- 214

Question ID:- 84
Which among the following is a cytoplasmic pathway which breaks down
glucose into two three-carbon compounds and generates energy?

Options:-

= Glycolysis, Option ID :- 333,

« Chromatin, Option ID :- 334,

» Mitochondria, Option ID :- 335,

= Nucleus, Option ID :- 336,
Answer Given:- Glycolysis, Option ID : -333
Correct Answer :- Glycolysis Option ID :- 333

Question ID:- 32
Which one of the following is not an approach in human geography?

Options:-

» Exploration and description, Option ID :- 125,
» Areal differentiation, Option ID :- 126,

« Quantitative revolution, Option ID :- 127,

=« Regional analysis, Option ID :- 128,
Answer Given:- Exploration and description, Option ID : -125
Correct Answer :- Quantitative revolution Option ID :- 127

Question ID:- 21
When was the famous Quit India Resolution passed?

Options:-
sAugust 8, 1942, Option ID :- 81,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

« August 28, 1942, Option ID :- 82,
« April 4, 1928, Option ID :- 83,

« April 24, 1928, Option ID :- 84,
Answer Given:- August 8, 1942, Option ID : -81
Correct Answer :- August 8, 1942 Option ID :- 81

Question ID:- 121
If the height of a cone is doubled, then its volume is increased by:

Options:-

195%, Option ID :- 481,

= 48%, Option ID :- 482,
»« 100%, Option ID :- 483,

» 70%, Option ID :- 484,
Answer Given:- Not Attempted
Correct Answer :- 100% Option ID :- 483

Question ID:- 53

Which committee recommended the concept of Universal Banking ?
Options:-

«Marathe Committee, Option ID :- 209,

» Gadgil Committee, Option ID :- 210,

=« A Ghosh Committee, Option ID :- 211,

» R H Khan Committee, Option ID :- 212,
Answer Given:- Not Attempted
Correct Answer :- R H Khan Committee Option ID :- 212

Question ID:- 47
In relation to the currency management in India, the responsibility for
coinage vests with the

Options:-

sGovernment of India, Option ID :- 185,

» Reserve Bank of India, Option ID :- 186,
= Ministry of Finance, Option ID :- 187,

» Ministry of Commerce, Option ID :- 188,
Answer Given:- Ministry of Finance, Option ID : -187
Correct Answer :- Government of India Option ID :- 185

Question ID:- 71
Choose from the following given options the antonym of the word :

PECULIAR

Options:-

sweird, Option ID :- 281,

» unusual, Option ID :- 282,

« abnormal, Option ID :- 283,

« familiar, Option ID :- 284,
Answer Given:- familiar, Option ID : -284
Correct Answer :- familiar Option ID :- 284
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Question ID:- 27

Which of the following state is the leading producer of Manganese ?
Options:-

»« Assam, Option ID :- 105,

» Odisha, Option ID :- 106,

« West Bengal, Option ID :- 107,

« Tamil Nadu, Option ID :- 108,
Answer Given:- Odisha, Option ID : -106
Correct Answer :- Odisha Option ID :- 106

Question ID:- 57
With regard to HSRP convention, match the following correctly

(Sticker colour) (Vehicle type)
1. Light blue A. Petrol/ CNG
2. Orange B. Diesel

3. Grey C. Other
Options:-

« 1-A, 2-B, 3-C, Option ID :- 225,
« 1-C, 2-A, 3-B, Option ID :- 226,
« 1-A, 2-C, 3-B, Option ID :- 227,

« 1-C, 2-B, 3-A, Option ID :- 228,
Answer Given:- 1-C, 2-A, 3-B, Option ID : -226
Correct Answer :- 1-A, 2-B, 3-C Option ID :- 225

Question ID:- 25
Which of the following national parks is a World Heritage site ?

Options:-

« Kanha National Park, Option ID :- 97,
« Pench National Park, Option ID :- 98,
« Valley of Flower, Option ID :- 99,

« Periyar National Park, Option ID :- 100,
Answer Given:- Valley of Flower, Option ID : -99
Correct Answer :- Valley of Flower Option ID :- 99

Question ID:- 115
By selling a ceiling fan for Rs 1800, a shopkeeper loses 10%. Find the cost

price?

Options:-

«Rs 1500, Option ID :- 457,
« Rs 2500, Option ID :- 458,
» Rs2200, Option ID :- 459,

= Rs 2000, Option ID :- 460,
Answer Given:- Rs 2000, Option ID : -460
Correct Answer :- Rs 2000 Option ID :- 460

&
o
&
&

Question ID:- 56

Match the following
(Species) (National Park)
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1. Red Panda A. Manas

2. Golden Langur B. Dihang-Dibang
3. Giant flying squirrel C. Nokrek
Options:-

« 1-C, 2-A, 3-B, Option ID :- 221,
« 1-B, 2-A, 3-C, Option ID :- 222,
« 1-A, 2-C, 3-B, Option ID :- 223,

« 1-B, 2-C, 3-A, Option ID :- 224,
Answer Given:- 1-B, 2-A, 3-C, Option ID : -222
Correct Answer :- 1-C, 2-A, 3-B Option ID :- 221

Question ID:- 18
Where among the following places was Guru Gobind Singh, the last
Sikh Guru assassinated?

Options:-

«Nanded, Option ID :- 69,

« Amritsar, Option ID :- 70,

« Ahmedabad, Option ID :- 71,

« Nagpur, Option ID :- 72,
Answer Given:- Not Attempted
Correct Answer :- Nanded Option ID :- 69

Question ID:- 45
The Rajiv Gandhi National Institute for Intellectual Property Managementin
India is situated in

Options:-

«Mumbai, Option ID :- 177,
» Chennai, Option ID :- 178,
« Nagpur, Option ID :- 179,

» Delhi, Option ID :- 180,
Answer Given:- Chennai, Option ID : -178
Correct Answer :- Nagpur Option ID :- 179

Question ID:- 74

Choose the correctly spelt word from the following options.
Options:-

swelfare, Option ID :- 293,

« wellfare, Option ID :- 294,

« welfair, Option ID :- 295,

« welfeir, Option ID :- 296,
Answer Given:- welfare, Option ID : -293
Correct Answer :- welfare Option ID :- 293

Question ID:- 8
When is the National Pension System Diwas (NPS Diwas) celebrated ?

Options:-
:09 August, Option ID :- 29,
=« 01 October, Option ID :- 30,
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=« 10 October, Option ID :- 31,

» 23 November, Option ID :- 32,
Answer Given:- Not Attempted
Correct Answer :- 01 October Option ID :- 30

Question ID:- 55

On which date was National Development Council setup ?
Options:-

»25th December 1960, Option ID :- 217,

» 14th August 1960, Option ID :- 218,

» 6th August 1952, Option ID :- 219,

» 14th August 1952, Option ID :- 220,
Answer Given:- 6th August 1952, Option ID : -219
Correct Answer :- 6th August 1952 Option ID :- 219

Question ID:- 11
The book ‘Public Service Ethics- A Quest for Naitik Bharat’ is written by?

Options:-

«Chitra Banerjee Divakaruni, Option ID :- 41,
« Amitav Ghosh, Option ID :- 42,

« Prabhat Kumar, Option ID :- 43,

« Taran Husain Khan, Option ID :- 44,
Answer Given:- Not Attempted
Correct Answer :- Prabhat Kumar Option ID :- 43

Question ID:- 77
Select from the following given options a word which can subsitute the
given phrase :

Something that relates to everyone in the world.
Options:-

«Particular, Option ID :- 305,

» Local, Option ID :- 306,

« Peculiar, Option ID :- 307,

= Universal, Option ID :- 308,
Answer Given:- Universal, Option ID : -308
Correct Answer :- Universal Option ID :- 308

Question ID:- 108
Which of the given venn diagrams represent the correct mutual relationship

between "Professionals, Lawyers, Doctors" ?

o
(4)

(1) (2) 3)
Options:-
«1, Option ID :- 429,
« 2, Option ID :- 430,
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« 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429
Correct Answer :- 1 Option ID :- 429

Question ID:- 88
Thickening of arterial walls due to cholesterol is

Options:-
sArthritis, Option ID :- 349, \/

« Aneurysm , Option ID :- 350,
» Atherosclerosis , Option ID :- 351,

« Both Arthritis & Arteriosclerosis , Option ID :- 352,
Answer Given:- Atherosclerosis , Option ID : -351
Correct Answer :- Atherosclerosis Option ID :- 351

Question ID:- 78

“......0f the most valuable of all talents, that of never using two words
where one will do.” This quote, often rephrased to a simpler form, is taken
from a letter written by a renowned statesman. Who is the statesman?

Options:-

s Thomas Jefferson, Option ID :- 309,
=« Winston Churchill, Option ID :- 310,
» Adolf Hitler, Option ID :- 311,

« Abraham Lincoln, Option ID :- 312,
Answer Given:- Not Attempted
Correct Answer :- Thomas Jefferson Option ID :- 309

Question ID:- 66

Choose the part (A/B/C) of the given sentence that contains an error. If the
given sentence does not contain any error, mark "MNo error" as the answer.
Ignore the punctuation error, if any.

They produce artificial (A) /chemicals which exactly(B) / imitate particular
natural ones. (C) / No error (D)

Options:-

«C, Option ID :- 261,
« A, Option ID :- 262,
« B, Option ID :- 263,

« D, Option ID :- 264,
Answer Given:- D, Option ID : -264
Correct Answer :- D Option ID :- 264

Question ID:- 10

The 20th edition of the Bilateral Naval Exercise between Indian and
French Navies was conducted in the Arabian Sea from 30 Mar—03 Apr
22. What is this exercise called ?

Options:-
«Agni, Option ID :- 37,

» Tejas, Option ID :- 38,
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« Udaan, Option ID :- 39,

« Varuna, Option ID :- 40,
Answer Given:- Varuna, Option ID : -40
Correct Answer :- Varuna Option ID :- 40
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Question ID:- 26
Which of the following is not a footloose industry ?

Options:-

« Diamonds, Option ID :- 101,

» Computer chips, Option ID :- 102,

» Mobile manufacturing, Option ID :- 103,

« Jute, Option ID :- 104,
Answer Given:- Jute, Option ID : -104
Correct Answer :- Jute Option ID :- 104

Question ID:- 99
Who is the tallest among A, B, C, D and E? % \-7 Q
>

1) A is taller than B but not as tall as C.

2) Distaller than E ,ButnotastallasB. (/ 7 R
Options:-

«A, Option ID :- 393,

« C, Option ID :- 394,

« D, Option ID :- 395,

« Both A & B, Option ID :- 396,
Answer Given:- C, Option ID : -394
Correct Answer :- C Option ID :- 394

Question ID:- 107
If the under given letters of English alphabet are arranged in proper

sequence , we get the name of a well recognised as per standard
English Vocabulary.
£, 5 L.P, 7]

Options:-

«Food Item, Option ID :- 425,
» Country, Option ID :- 426,

« Month, Option ID :- 427,

» State, Option ID :- 428,
Answer Given:- Food Item, Option ID : -425
Correct Answer :- Food Item Option ID :- 425

Question ID:- 117
In a 729 litres mixture of milk and water, the ratio of milk to water is

7:2. How much amount of water is to be added so get a new mixture
containing milk and water in the ratio 7:3 ?

Options:-

» 81 litres, Option ID :- 465,
= 62 litres, Option ID :- 466,
= 95 litres, Option ID :- 467,
= 98 litres, Option ID :- 468,
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Answer Given:- Not Attempted
Correct Answer :- 81 litres Option ID :- 465

Question ID:- 39
Which of the following is based on 'socialist' principle in Directives
principles of state ?

Options:- 7L
« To organise village Panchayats, Option ID :- 153,

« To prohibit cow slaughter, Option ID :- 154,

» To promote weaker sections of society, Option ID :- 155,

« To improvise public health, Option ID :- 156,
Answer Given:- To promote weaker sections of society, Option ID : -155
Correct Answer :- To improvise public health Option ID :- 156

Question ID:- 98
Which of the following words can not be formed using the letters of the
word ORNITHOLOGIST?

Options:-

«GHOST, Option ID :- 389,

« LOTION, Option ID :- 390,
= THRONE, Option ID :- 391,

« THIRST, Option ID :- 392,
Answer Given:- THRONE, Option ID : -391
Correct Answer :- THRONE Option ID :- 391
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